Please solve the problems and show your work.

[image: image1.png]Prepare a probability distribution for the experiment. Let x represent the random variable, and let P represent the
probability.
3) Three balls are drawn from a bag containing 5 red and 3 green balls. The number of green balls ~ 3)
is counted.
A) B) Q D)

A dieis rolled 20 times and the number of twos that come up is tallied. Find the probability of getting the given
result.

4) More than three twos 9
A).433 B).905 Q) 403 D) 564
Solve the problem.
5) Find the expected number of girlsin a family of 5. 5)
A)3 B)225 02 D)25

6) Suppose there are 6 roads connecting town A totown B and 8 roads connecting town Btotown  6)
C.In how many ways can a person travel from A to C via B?
A) 64 ways B)48 ways )36 ways D) 14 ways

Of the 2,598,960 different five-card hands possible from a deck of 52 playing cards, how many would contain the
following cards?
7) Twored cards and three black cards 7)
A) 1,690,000 hands B)1267500hands  C) 845,000 hands D) 422,500 hands




